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Gamma rays, 50 to 300 keV GRB 170817A
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Michelson-Interferometer
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Years after the Big Bang
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redshift
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distance

Binary mergers

* binary black holes

BH - BH
* binary neutron stars

time in the past

NS - NS
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eismic noise
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Seismic Isolation
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Seismic Isolation
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Seismic Isolation

Metal masses
(1%t & 2" pendulums)

“Main Chain”
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Seismic Isolation
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6. lower resonance frequency
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resonance frequency: wy = +/ g/l

mathematical pendulum

d?*x(t)
W = —k X(t)

= wg =+ k/m

make k small! (here k = mg/l)

m

inverted pendulum

d?x(t)
dt?

add a blade spring

2
T = (k) x(0)

m = +k x(t)

144
dt? N

make small!

| blade
i spring
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